
GAMA TELEPROMETER DATAVIDEO FEBRERO 2023

MODELO TP-500 TP-300 MARK II TP-650 MARK II TP-700 TP-900 TP-800
CODIGO CRAMBO 38303 95311 92476 90460 90461 84236

Product DSLR Prompter Tablet Prompter MARK II Large Screen Prompter Kit for ENG Cameras
Universal Large Screen Prompter Kit with ENG and Freestanding 
Configurations

PTZ Camera Teleprompter Portable Conference Teleprompter

URL https://datavideo.com/eu/product/TP-500 https://datavideo.com/eu/product/TP-300+MARK+II https://datavideo.com/eu/product/TP-650+MARK+II https://datavideo.com/eu/product/TP-700 https://datavideo.com/eu/product/TP-900 https://datavideo.com/eu/product/TP-800

Device Used Apple iPads
Android Tablets

Apple iPads
Android Tablets

Apple iPads
Android Tablets

15" monitor with integrated dvPrompter Plus software 15" monitor with integrated dvPrompter Plus software 15" monitor with integrated dvPrompter Plus software

Camera-Mount Interface Adjustable Camera Plate Prompter Frame Prompter Rail Prompter Rail Adjustable Lift N/A

Smartphone / Tablet Size Min. Tablet Width: 110mm
Max. Tablet Width: 210mm

Min. Tablet Width: 110mm*
Max. Tablet Width: 210mm*

Min. Tablet Width: 145mm
Max. Tablet Width: 265mm

N/A N/A N/A

Multi-language Support

English
Dutch
Spanish
Portuguese
Russian
Chinese(Traditional)
Chinese (Simplified)

English
Dutch
Spanish
Portuguese
Russian
Chinese(Traditional)
Chinese (Simplified)

English
Dutch
Spanish
Portuguese
Russian
Chinese(Traditional)
Chinese (Simplified)

English
Dutch
Spanish
Portuguese
Russian
Chinese(Traditional)
Chinese (Simplified)

English
Dutch
Spanish
Portuguese
Russian
Chinese(Traditional)
Chinese (Simplified)

English
Dutch
Spanish
Portuguese
Russian
Chinese(Traditional)
Chinese (Simplified)

Prompter Size (Max)
Width: 270mm
Height: 210mm
Depth: 460mm

Width: 250mm
Height: 210mm
Depth: 447mm

Width: 415mm
Height: 300mm
Depth: 750mm

Width: 430mm
Height: 345mm
Depth: 820mm

Width: 535mm
Height: 590mm
Depth: 350mm

Width: 410mm
Height: 2000mm
Depth: 430mm
Support bar height range: 45 - 161 cm

LCD Native Resolution N/A N/A N/A 1024x768 1024x768 1024x768
LCD Brightness N/A N/A N/A 350 NIT 350 NIT 350 NIT

Remote Control *Optional WR-500 wired/wireless hardware remote
*Optional in-app purchase for monitoring and control via LAN

*Optional WR-500 wired/wireless hardware remote
*Optional in-app purchase for monitoring and control via LAN

*Optional Universal Bluetooth Wireless Remote (with USB cable adapter for charging purposes)
* Monitoring and control via LAN
*Optional WR-500 wired hardware remote or FS-30 Foot Pedal
*Supports generic presentation remote controls with USB receivers

* Monitoring and control via LAN
*Optional WR-500 wired hardware remote or FS-30 Foot 
Pedal

* Monitoring and control via LAN
*Optional WR-500 wired hardware remote

Weight 1.3 Kg 1.9 Kg 3.3 Kg 6.3 Kg 10.3Kg 7.8Kg
Operating Temp. Range 0~40 °C 0~40 °C 0~40 °C 0~40 °C 0~40 °C 0~40 °C

Power N/A N/A N/A
12V DC (Mains adapter supplied)
V-Lock battery
PoE (optional adapter required)

12V DC (Mains adapter supplied)
PoE (optional adapter required)

12V DC (Mains adapter supplied)
V-Lock battery
PoE (optional adapter required)

Carry Case Dimensions (excluding handle) N/A N/A N/A N/A N/A H 375mm x W 430mm x D 165mm

What's in the Box

1 x Adjustable Camera Plate
2 x 15mm Carbon fibre rod Length 230mm
1 x Hood Frame with square hole and Velcro straps (Hood Frame also has press 
studs)
1 x Screw plate
2 x 15mm Carbon fibre rod Length 150mm
1 x Mounting plate with hooks
1 x Lens snood with pull cord and Velcro straps
1 x Adjustable tablet holder
1 x Folding hood with press studs and velcro strap
1 x Velcro edged 60/40 Mirror glass with green and red stickers
1 x Micro fibre cloth pouch
1 x Plastic card glass removal tool
1 x Spare screw
Retail carton with protective foam packing

1 x Prompter Frame
2 x Hex Tools to tighten Frame screws
1 x Metal 3/8" to 1/4" adaptor screw for tripod plate
1 x Mounting Bracket Screw
1 x Expandable mounting bracket for tablet 
1 x Glass Frame with matching Velcro straps
2 x Wing nut screws ¼” for securing the Glass Frame
1 x Cloth Snood/Hood including side curtains and Velcro straps 
1 x 60/40 Mirror Glass with Green and Red sticker
1 x Snood/Hood support wire
2 x Camera Riser Blocks 15mm thick
2 x 3mm Hex Block Screw long
2 x 2.5mm Hex Block Screw short
1 x Camera Screw Long
1 x Camera Screw Short (with 2 washers and nut)
1 x Instruction Manual
1 x Ball Head
1 x ¼ Extension Pole
1 x 7.5mm ¼ screw
1 x 14mm ¼ screw to attach item R

1 x Main TP-650 MARK II ENG prompter rail
1 x Smaller rail with spacer block for mounting bracket
2 x ¼” Screws Length 27mm secures item B to A
1 x Hex Tool (Black) for counter sunk Hex head screws
1 x Hex Tool (Silver) for Glass Frame Hex screws
1 x ¼” Screw Length 8mm secures item F to B
1 x Adjustable Mounting Bracket with locking lever
1 x Glass frame with 4 Velcro straps
2 x Wing nut screws ¼” Length 16mm secures item G to A
1 x Cloth Snood/Hood with Velcro straps
1 x 70/30 Glass sheet with Green and Red stickers
1 x Snood/Hood support wire
2 x ¼” Camera securing screws length 16mm
2 x ¼” Camera securing screws length 31mm
1 x Camera riser block 15mm thick
1 x Cloth case for Snood, Mirror Glass and Glass frame
1 x Adapter screw to convert 3/8” hole to ¼” hole
1 x ¼” Counter sunk hex head screw length 16mm
1 x ¼” Counter sunk hex head screw length 31mm
Retail carton with protective foam packing

1 x Main TP-700 ENG prompter rail 
1 x Smaller rail with spacer block for mounting item F
2 x ¼” Screws Length 27mm secures item Aor AA to B 
1 x Hex Tool (Silver) for counter sunk Hex head screws 
1 x Hex Tool (Silver) for Glass Frame Hex screws 
1 x Hex Tool (Silver) for VESA Hex screws 
2 x 16mm ¼ screws with washer to attach item F to item B (With red dot) 
1 x 15” LCD control unit 1
1 x Glass frame with 4 Velcro straps 
2 x Wing nut screws ¼” Length 19mm secures item A or AA to G 
1 x Cloth Snood/Hood with Velcro straps 
1 x 70/30 Glass sheet with Green and Red stickers 
1 x Snood/Hood support wire  
2 x ¼” Camera securing screws length 16mm 
2 x ¼” Camera securing screws length 31mm 
1 x Camera riser block 15mm thick 
1 x USB Mouse 
1 x Adapter screw to convert 3/8” hole to ¼” hole 
1 x ¼” Counter sunk hex head screw length 16mm 
1 x ¼” Counter sunk hex head screw length 31mm 
1 x Talent monitor vertical mounting rail 
1 x Talent monitor VESA adapter plate 
4 x 14mm M4 screws for mounting 75MM VESA monitors 
1 x Universal mains PSU 
1 x Ethernet Cable 5M 
1 x 3.5mm input adapter for WR-500 remote control 
1 x 12V D-Tap Cable 
2 x 12mm M4 Screws to secure item J 

1 x 15” LCD Control Unit 
1 x 12V universal Mains PSU 
1 x USB Mouse 
1 x 5m Ethernet Cable 
1 x 3.5mm input adapter for WR-500 remote control
1 x TP-900 metal base tray with tripod plate 
1 x 150 x 150 PTZ Scissor Lift 
1 x Cloth Hood 
1 x M4 CRV hex tool 
1 x 9mm long ¼ thumb screw with red dot 
1 x 9mm long ¼ thumb screw with washers 
8 x M6*40mm screws
10 x M6*14mm screws 
1 x 16mm long screw 
1 x 3/8 to ¼ adapter 
4 x 565mm Vertical extrusions 
2 x 475mm horizontal extrusions with 90 degree joining 
blocks 
2 x 325mm glass support extrusions with single end caps 
2 x 250mm PTZ lift extrusions with both end caps 
1 x 70/30 mirror glass 
1 x Glass support bar 
2 x Spare black extrusion end caps 
2 x Spare M6*14mm screws 
2 x 12V regulated DTap cable 
1 x Small CRV hex tool to remove the tripod plate from 
item F 
1 x Medium CRV hex tool to remove 90 degree joining 

1 x Main TP-800 ENG hard case & chassis
1 x 15” LCD control unit
1 x Extendable pole with 3/8 screw
1 x Adjustable beam splitter glass clamp
1 x Thumb screw for beam splitter clamp (Item D)
1 x 50/50 glass beam splitter 
1 x Universal mains PSU (Or local PSU only for Chinese 
market)
1 x Ethernet cable 5M
1 x  3.5mm input adapter for WR-500 remote control
1 x USB Mouse
1 x Sun Hood
1 x 12V D-Tap cable
Retail carton 


